Hyva Tip Controls

Introduction

Hyva tip controls

Hyva offers a complete range of tip controls to engage the power take-off and valves in your hydraulic
system. The standard Hyva controls meet every local legislation with safety features such as the automatic
P.T.O. disengagement. This control makes driving with an engaged P.T.O. impossible. The tipping controls
are standard delivered with three positions; tip, lower and automatic neutral locking position. Hyva tipping
controls have incorporated push-pull air tube (6mm) couplings.

Standard Hyva tip controls
The following controls are available:
e Tip control for P.T.O.

e Tip control for tipping valve

e Tip control for P.T.O. & tipping valve

They are available with or without spring return on Tip control. The control for P.T.O./valve has an automatic
disengage on the P.T.O. switch as an option.

The standard controls are equipped with a warning light to show that the P. T.O. is engaged. Perfectly
proportional lowering is possible in combination with the Hyva PT valve. Proportional lowering makes
partially unloading ever so easy. Detailed specification sheets are available on request.

Narrow tip controls with additions for multi-sections

The multi-section tip control can be used in cases where more functions should be controlled, for instance
taildoors, multi-kaps or hookloaders. The tipping control is ideal for small cabine spaces.

Basic section for tippers

The multi-section tip control always starts with the basic section 147 50 430, which is a double acting, double
proportional section to operate (tipping) valves. The lever of the basic section is spring return to both sides
up to 30° of the handle. When the operator pushes to full 32° the lever can be locked in the both end
positions. In the basic section 2 threaded holes M6 at 58 mm pitch are available for fitting the valve on a
mounting plate.

Extra sections
Additional up to 8 sections can be fitted. Following extra sections are available:

e 147 50 460 as an extra 4/3 section to operate non-proportional valves with 3 positions.
e 147 50 455 as an extra 3/2 section to operate non-proportional valves with 2 positions.

Code system tip control

Tip control - 2 - TS/LF - PNL — TF/LF = Tip fixed, lower fixed
T —I__ — TS/LF= Tip spring return, lower fixed
second section etc.:l — PN = P.T.0O. or 3/2 section with manual disengagement
L first section — PNL = P.T.O. or 3/2 section with manual disengagement
and with lamp
— PA = P.T.O. or 3/2 section with automatic disengagement
— PAL = P.T.O. or 3/2 section with automatic disengagement
and with lamp
— DA = Double action or 4/3 section
sections —— 7 — 1 = one section
— 2 =two sections
— MS = multi-section
operation ——  Description tip control
PG-E 00000177 / 11-07-01 / RV AE 05-1



Hyva Tip Controls

1-section tip controls

Tip control 1-section (P.T.O. control)

Part no. Description Kit no. | Max. press. | Min. press. Ports
(bar) (bar) (1) (3) (23)
147 51 082 H [ Tip control PT.O.-1-PN FA150A 12 bar 5 bar M12 M12 M12

Kit FA150A consists of control and air kit

N

Connections

1 :airinlet*

3 : air exhaust

23 : working port (P.T.O.)*

*excl. air tube coupling

Proportional tip control 1-section (tipping valve control)

Part no. Description Kit no. | Max. press. | Min. press. Ports

(bar) (bar) (1) (3) (21) (22)
147 50 665 H | Tip control-air-TF/LF 12 bar 5 bar G1/8” M5 G1/8” G1/8”
147 50 667 H | Tip control-air-TS/LF FB150A 12 bar 5 bar G1/8” M5 G1/8” G1/8”

Kit FB150A consists of control and air kit

o \O\N

/
A

w
Oy |-t N
o Q

>

<
<t -

Connections
1 :airinlet
3 : air exhaust

21 : lowering connection
(to tipping valve)
22 : tipping connection

(to tipping valve)

PG-E 00000177 / 11-07-01 / RV AE

1T YAZ monuies

05-2




Hyva Tip controls

2-section tip controls

Proportional tip control 2-sections (P.T.O. & tipping valve control)

Part no. Description Kit no. | Max. press. | Min. press. Ports

(bar) (bar) (1) (3) (21) | (22) | (23)
147 50 644 H | Tip-pto control-air-TF/LF - PNL 12 bar 5 bar G1/8” M5 G1/8" | G1/8” | G1/8”
147 50 646 H | Tip-pto control-air-TS/LF - PNL FC150A 12 bar 5 bar G1/8” M5 G1/8” | G1/8” | G1/8”
147 50 650 H | Tip-pto control-air-TF/LF - PAL 12 bar 5 bar G1/8” M5 G1/8” | G1/8” | G1/8”
147 50 652 H | Tip-pto control-air-TS/LF - PAL FC250A 12 bar 5 bar G1/8” M5 G1/8" | G1/8” | G1/8”

Kit FC consists

of the tip control and air kit

13

=
F

31.5

Connections

1 :airinlet

3 : air exhaust

21 : lowering connection
(to tipping valve)

: tipping connection
(to tipping valve)

: working port P.T.O.

e

22

23

Air kit 1-section control for P.T.O.

Part no. Description Qty.
147 51 094 K | Air kit for P.T.O. consisting of:

019 15 307 H | Elbow coupling for tip control M12-6mm 2
148 75 007 15| Air tube 4x6 (15 m) 1
148 75 500 Air tube tie 4

Air kit 2-section controls for P.T.O. & valve

Part no. Description Qty.
147 50 119 K | Air kit for P.T.O./valve consisting of:

092 25 005 T-piece for air tube 4x6 1
148 75 007 25 | Air tube 4x6 (25 m) 1
148 75 500 Air tube tie 8

PG-E 00000177 / 11-07-01 / RV AE

Support for proportional tip control

Part no. Description

092 05 002 Support tip control 147506-series

092 32 002 Support tip control 147506-series standard
147 52 532H | Support tip control 147506-series plastic

092 05 002

<>

092 32 002

1T YAZ monuies

05-3




Hyva Tip Controls

2-section tip controls

Electro pneumatic control 2-sections with pneumatic cabin connection

Part no. Description Max. press. | Min. press. Ports Volt
(bar) (bar) (1) (3) (21) | (22) (V)
147 52 201 Electro pneumatic dual control - 2 - TS/LF 12 bar 5 bar G1/8” | G1/8” | G1/8” | G1/8” 24
This control is generally used to control the tipping 4 1 : a!r inlet
and lowering connection of the tipping valve. 3 : air exhausts
It is also possible to use the working ports 21A and 21A : lowering connection
22A to control for any other tip controlled parts like .
P.T.O. or rear flap closing. (to t|p_p|ng Valve),
21B : lowering connection
(from cab tip control)
22A : tipping connection
(to tipping valve)
22B : lowering connection
(from cab tip control)
4  : lowering solenoid
connector
5 . tipping solenoid connector
6 : power supply connection
Spare parts
Pos.| Part no. Description Qty.
A 147 52 221 Electro pneumatic valves (complete) 1
B 147 52 222 Shuttle valve set 1
C 147 52 225 Remote control 1
D 147 52 226 Connecting box 1
Electro pneumatic control 2-sections
Part no. Description Max. press. | Min. press. Ports Volt
(bar) (bar) (1) (3) (21) | (22) ()
147 52 200 Electro pneumatic control - 2 - TS/LF 12 bar 5 bar G1/8" | G1/8” | G1/8” | G1/8” 24
This control is generally used to control the tipping 4 1 a!r inlet
and lowering connection of the tipping valve. S 3 : air exhausts
Itis also possible to use the working ports 21 and 22 21 : lowering connection
to control for any other tip controlled parts like P.T.O. P
or rear flap closing. (to t_|pp|ng valvg)
22 : tipping connection
(to tipping valve)
4 : lowering solenoid connector
LOWER 5 : tipping solenoid conneptor
6 : power supply connection box
B &
Spare parts
pos.| part no. Description Qty.

A 147 52 221
B 147 54 135
C 147 52 226

Electro pneumatic valves (complete)

Electric tipping switch
Connecting box
®
PG-E 00000177 / 11-07-01 / RV AE I'WA HYDRAU”cs 05-4

[EEE NN




Hyva Tip Controls

Multi-section tip controls

Proportional tip control multi section with optional additional sections

Part no. Description Pos. | Max. press. | Min. press. Ports

(bar) (bar) (A) (B) (P) (R)
147 50 430 Tip control flat model MS-air-TF/LF 1 12 bar 5 bar 6 mm 6 mm 6 mm 6 mm
147 50 440 Tip control flat model MS-air-TS/LF 1 12 bar 5 bar 6 mm 6 mm 6 mm 6 mm
147 50 455 Tip control flat model-air-3/2 section 2 12 bar 5 bar 6 mm - - -
147 50 460 Tip control flat model-air-4/3 section 8 12 bar 5 bar 6 mm 6 mm - -

‘\ \ T ] 1
32° 32°
2 3
AN
© A A
H
58 A
© o o
R_>" @pHOLD“ 3 & (\‘V I e ON \9
L = —
- [ )
Ry (e e | v
B1 P A1 A2
i <« M o»

P :airinlet A2 :working port additional
R :air exhaust 3/2 section
H :rubber for handle A3 :working port additional
A1 :tipping connection 4/3 section

(to tipping valve) B3 :working port additonal
B1 :lowering connection 4/3 section

(to tipping valve)

Mounting kit for multi-section*

The components should be ordered and will be supplied as loose parts and should be
assembled during installation. To combine the valves you need to order mounting kits
for the extra sections. Mounting kit numbers are 147 50 51x, where x is the number of
sections you want to add (so 147 50 513 for three extra sections). The pneumatic hose
sizes must have 6 mm OD, because connectors are integrated in the tip control.

Part no. Description

147 50 511 Mounting kit for one extra section
147 50 512 Mounting kit for two extra sections
147 50 513 Mounting kit for three extra sections

* Not interchangeable with H-series

PG-E 00000177 / 11-07-01 / RV AE I'fVR HYD RAU”cs 05-5



Hyva Tip Controls

Multi-section Flange mounted

Tip control multi-section flange mounted

Part no. Description Max. press. [Min. press. Ports
(bar) (bar) (1) (21) (22) (23) (24)

147 50 210 H | Tip control - 1 - TF/LF - PNL 12 bar 5bar |M12x1,25| M12x1,25 - - -

147 50 220 H | Tip control - 1 - TF/LF - PN 12 bar 5bar |M12x1,25| M12x1,25 - - -

147 50 230 H | Tip control - 2 - TF/LF - PNL 12 bar 5bar |M12x1,25| M12x1,25| M12x1,25 - -

147 50 240 H | Tip control - 2 - TF/LF - PN 12 bar 5bar |M12x1,25| M12x1,25| M12x1,25 - -

147 50 250 H | Tip control - 3 - TF/LF - PNL 12 bar 5bar |M12x1,25| M12x1,25| M12x1,25 | M12x1,25 -

147 50 270 H | Tip control - 4 - TF/LF - PNL 12 bar 5bar |M12x1,25| M12x1,25| M12x1,25 | M12x1,25| M12x1,25
147 50 285 H | Tip control - 2 - TS/LS - PNL 12 bar 5bar |M12x1,25| M12x1,25| M12x1,25 - -

1 :airinlet

21 : working port 1*
22 : working port 2*
23 : working port 3*
24 : working port 4*

*excl. air tube coupling

The range of flange mounted air controls is designed to feed pneumatically controlled equipment economically. Versions range from 1 to
4 bi-stable sections, are easy to mount, have one single air inlet and an exhaust directly into the atmosphere. PNL versions are
equipped with a warning light.

Each section (3/2) passes air pressure to the connected equipment. When placed back in rest (bottom) position the exhaust is opened.
Equipment fitted with a spring return (for instance PTO or most directional control valves) can be operated using one switch.

For a typical 3/3 tipping valve 2 switches are required which can be extended for every extra function required such as PTO or slow-
lowering feature.

PG-E 00000177 / 11-07-01 / RV AE I'fVR HYD RAU”cs 05-6



Hyva Tip Controls
Accessories

Pneumatic knock-off for front-end cylinders Pneumatic knock-off for 3-way cylinders

Description Part no. Description
147 00 506 Knock-off valve with mounting support 147 52 955 Knock-off for DC
147 00 508 Knock-off valve without mounting support The hydraulic knock-off’s can be found in the valve part of the
catalogue

14700506

Air couplings Air tube connectors

Description Description
019 66 082 H |Air coupling - 00 - 6mm - 8mm - push-in 092 25 001 Air coupling - 00 - 6mm - 6mm
148 10 515 Air coupling - 00 - M5 - 6mm - push-in 092 25 002 Air coupling - 00 - 8mm - 8mm
148 10 517 Air coupling - 00 - 4"BSPOT - 6mm - push-in 092 25 003 Air coupling - 00 - 10mm - 10mm
148 10 566 Air coupling - 90 - "BSPOT - 6mm - push-in 092 25 004 Air coupling - 00 - 12mm - 12mm
148 11 005 Air coupling - 00 - M22 - 6mm - push-in
01915290 H |Air coupling - 00 - M12 - 6mm
019 15 307 H |Air coupling - 90 - M12 - 6mm

PG-E 00000177 / 11-07-01 / RV AE I'fVR HYDRAU”cs




Hyva Tip Controls

Accessories

T-piece for air tube Pneumatic pressure indicator
Part no. | Description Part no. Description
092 25005 | T-piece for air tube 6mm - push-in 092 25 010 T-piece pneumatic 3x “%"BSPIT

019 64 001 H |Pressure switch pneumatic %"BSPOT
019 64 000 H | Control light

Air tube Air tube multi-lines
Part no. Description Part no. Description
148 75 00715 |air tube - L=15m - coil=4x6mm 01967 140 H |Air tube 3-way, L=100m
148 75 00725 |air tube - L=25m - coil=4x6mm 019 67 143 H |Air tube 2-way in cover, L=100m
148 75 00735 |air tube - L=35m - coil=4x6mm 148 75 030 Air tube 3-way, L=8m
148 75 031 Air tube 2-way, L=8m

PG-E 00000177 / 11-07-01 / RV AE I'{vm HYD RAU”cs 05-8



Hyva Hoses & Adapters

Introduction

Hyva Hoses

Hoses offered by HYVA comply with the highest safety standards for truck hydraulics. Working pressures
range from 225 to 350 bar.

Code system hydraulic hoses

straight connection B.S.P.

Hose 1” H.P. 16-2000- 00 - 90
straight connection metric
90° connection B.S.P.

T _ ~|: 00
second hose end. 88
first hose end 91 = 90° connection metric

BANJO = Banjo connection

length in mm

inner diameter code in 1/16 inches

pressure range —E = High Pressure
inner diameter = Low Pressure

The best sealing is created if the HP-hose is connected to an adapter with a 60 degree cone. This cone
equals the shape of the standard fitted hose adapters and increases the sealing surface.

Low Pressure hoses

Part no. Description Inner @ | Weight |Dynamic working | Min. bending|Kit no. *)) Hose |Chassis
@) (kg) pressure (bar) | radius (mm) clip (2x) | clamp

147 95085 |Hose 1%" L.P.20-1500-00 - 01 1% 2.0 14 205 J003-01| incl. -

147 95034 |Hose 1% L.P.20 - 1500 - 00 - 00 1% 1.5 14 205 GHO060 | option A | option B
147 95 036 |Hose 1%” L.P. 20 - 2000 - 00 - 00 1% 2.0 14 205 GHO080 | option A | option B
147 95118 |Hose 1%” L.P.28 - 1500 - 00 - 00 1% 1.9 7 280 GMO060 | option A | option B
147 95120 |Hose 1%” L.P. 28 - 2000 - 00 - 00 1% 2.8 7 280 GMO080 | option A | option B
147 95131 |Hose 1%” L.P. 28 - 2500 - 00 - 00 1% 3.7 7 280 GM100 | option A | option B
147 95132 |Hose 1%” L.P. 28 - 3000 - 00 - 00 1% 4.6 7 280 = option A | option B
147 95 853 |Hose 2” L.P. 32 - 2000 - 00 - 00 2 3.6 7 305 option A | option B

*) example: if hose Hose 1%” L.P. 28 - 2000 - 00 - 00 is required with hose clips and chassis clamp order kit GMOSOAB
Kit J003-01 consists of the L.P. hose with a swivel adapter 1%4” hose end, a bonded seal & 2 hose clips

Suction hose clip A

Part no. Description Qty.
147 96 594 hose clip for 174”L.P.20 hose 2
147 96 600 hose clip for 1%4”L.P.28 hose 2
147 96 612 hose clip for 2" L.P.32 hose 2

PG-E 00000177 / 11-07-01 / RV AE I'{vm HYDRAU”cs 06-1



Hyva Hoses & Adapters

High Pressure hoses

High Pressure hoses with straight connections

Part no. *) |Description Inner @ | Weight | Dynamic working | Min. bending Ports

(@) (kg) pressure (bar) radius (mm) (A) (B)
147 89483 |Hose 2" H.P.08-0700 - 00 - 00 Pz 1.0 310 140 iz iz
147 89486 |Hose'2” H.P.08-1000 - 00 - 00 V2 1.2 310 140 s iz
147 89504 |Hose 2" H.P. 08 - 1500 - 00 - 00 V3 1.8 310 140 V8 vz
14790 026 |Hose %"  H.P.12-1000 - 00 - 00 Ya 1.3 280 190 8 8
14790 038 |Hose %"  H.P.12-1500 - 00 - 00 Ya 1.6 280 190 8 ¥a"
147 90 040 |Hose %"  H.P.12-2000 - 00 - 00 Y 2.0 280 190 8 Yo
147 90 051 |Hose %  H.P. 12 -2500 - 00 - 00 Ya 2.5 280 190 4 8
14790 063 |Hose %"  H.P.12-3000 - 00 - 00 Ya 2.9 280 190 8 8
14790 075 |Hose %"  H.P.12-4000 - 00 - 00 Ya 24 280 190 y/4 /4
147 90 324 |Hose 1” H.P. 16 - 1000 - 00 - 00 1 1.7 225 240 17 17
147 90 336 |Hose 1” H.P. 16 - 1500 - 00 - 00 1 2.4 225 240 17 17
147 90 348 |Hose 1” H.P. 16 - 2000 - 00 - 00 1 3.2 225 240 17 17
147 90 350 |Hose 1” H.P. 16 - 2500 - 00 - 00 1 3.9 225 240 17 17
147 90 361 |Hose 1” H.P. 16 - 3000 - 00 - 00 1 4.7 225 240 1” 17
147 90 368 |Hose 1” H.P. 16 - 3500 - 00 - 00 1 5.4 225 240 17 17
147 90 373 |Hose 1” H.P. 16 - 4000 - 00 - 00 1 6.2 225 240 17 1”

¥) The Delivery program of the Hyva high pressure hoses also contains hoses in several lengths with higher pressures than
mentioned in the table above.

High Pressure hoses with 90° connections

Part no. *) | Description Inner @ | Weight | Dynamic working | Min. bending Ports

(") (kg) pressure (bar) radius (mm) (A) (B)
147 88 483 |Hose ¥%”  H.P. 06 - 0700 - 00 - 90 Ys” 0.5 350 100 Ys” ¥8”
147 88492 |Hose %” H.P. 06 - 1500 - 00 - 90 ¥s” 0.7 350 100 ¥s” %"
147 89 589 |Hose 2"  H.P.08-0700 - 00 - 90 V2 1.0 310 140 s 3
147 89570 |Hose 2" H.P.08-1000 - 00 - 90 Y2 1.2 310 140 s 3
147 89582 |Hose 2" H.P.08 -1500-00 - 90 Y2 2.0 310 140 Ve v’
14790129 |Hose %"  H.P.12-1000 - 00 - 90 Ya 1.2 280 190 " ¥
14790130 |Hose %"  H.P.12-1500-00 - 90 % 1.6 280 190 b s
147 90 142 |Hose %"  H.P. 12-2000 - 00 - 90 Ya 2.0 280 190 s "
147 90 154 |Hose %"  H.P.12-2500 - 00 - 90 Ya 24 280 190 8 3
14790 166 |Hose %"  H.P. 12 -3000 - 00 - 90 Ya 2.9 280 190 " 8
14790178 |Hose%” H.P.12-4000 -00 - 90 A 3.3 280 190 Y Y
147 94 421 |Hose 1” H.P. 16 - 1000 - 00 - 90 1 2.2 225 240 17 1”
147 94 433 |Hose 1” H.P. 16 - 1500 - 00 - 90 1 2.8 225 240 1” 17
147 94 445 |Hose 1” H.P. 16 - 2000 - 00 - 90 1 3.0 225 240 17 17
147 94 457 |Hose 1” H.P. 16 - 2500 - 00 - 90 1 4.0 225 240 17 17
147 94 469 |Hose 1” H.P. 16 - 3000 - 00 - 90 1 4.6 225 240 17 17
147 94 468 |Hose 1” H.P. 16 - 3500 - 00 - 90 1 5.3 225 240 17 17
147 94 470 |Hose 1” H.P. 16 - 4000 - 00 - 90 1 5.9 225 240 1” 1”
147 90 4425 |Hose 1” H.P. 16 - 1200 - 00 - BANJO 1 1.3 225 240 17 17
147 90 443 |Hose 1” H.P. 16 - 2200 - 00 - BANJO 1 2.0 225 240 17 1”

*) The Delivery program of the Hyva high pressure hoses also contains hoses in several lengths with higher pressures than
mentioned in the table above.

PG-E 00000177 / 11-07-01 / RV AE I'{vm HYD RAU”cs 06-2



Hyva Hoses & Adapters

Low Pressure hoses

Extra High Pressure hoses with straight connections

Part no. *) |Description Inner @ | Weight | Dynamic working | Min. bending Ports

(@) (kg) pressure (bar) radius (mm) (A) (B)
147 90206 |Hose %"  H.P.12-2000 - 00 - 00 % 2.6 350 195 " ¥a"
147 94 820 |Hose 1” H.P. 16 - 2000 - 00 - 00 1 3.9 380 240 17 17
147 94 841 |Hose 1” H.P. 16 - 4000 - 00 - 00 1 7.6 380 240 1” 1”
*) The Delivery program of the Hyva high pressure hoses also contains hoses in several lengths other than mentioned in the table

above.

High pressure hose chassis clamp Suction hose chassis clamp
Part no. Description Qty. Part no. Description Qty.
092 23 004 hose chassis clamp for %” H.P. hose 092 23 006 hose chassis clamp for 1%4” L.P. hose 1
092 23 005 hose chassis clamp for 1" H.P. hose 092 23 001 hose chassis clamp for 1%4” & 2°L.P. hose 1

149 59 026 hose/pipe chassis clamp for %" H.P. hose
149 59 040 hose/pipe chassis clamp for 1” H.P. hose

=

09223001
09223005

09223004

Hoses per meter

Part no. Description

147 89 000 Hose 2" H.P. L=50m - 310 bar 09223012
147 90 001 Hose %" H.P. L=50m - 280 bar

147 90 300 Hose 1”7 H.P. L=50m - 225 bar 09223011

147 95 103 Hose 1%"L.P. L=30m - 7 bar

Part no. Description ; LT o 1354 09223015
09223011 Clamp 44-49 MM ruber inlay (LP 1 %4") : ~

09223012 Clamp 59-64 mm rubber inlay (FOR 2" LP) ——
09223013 Clamp 32-35 mm rubber inlay (FOR 1" HP) - 09223013
09223015 Clamp 26-30 mm rubber inlay (FOR %" HP) ;

PG-E 00000177 / 11-07-01 / RV AE I'fvm HYD RAU”cs 06-3



Hyva Hoses & Adapters

Quick Release couplings

Hyva Q.R. couplings

Quick release couplings are available with a swivel connection, with a flow of 160 litres up to 190 litres. The
available kits enclose the adapters, couplings and dust caps for the female or male side. Optional we offer
bolt-on and welding sockets and mounting plates.

The second range we offer is of the push-pull type. As these are less common for truck application we do not
offer these as a kit. Ask for a specification sheet for details on standard.

Code system Quick Release couplings
QR coupling %’BSPIT - female - SW - 280B - 160L

—I_— workingvolume in L/min.

workingpressure in Bar
coupling connection —{_ g\év z S\L’IVS“IQ?IDU"
male or female BSPIT

hose connection —E BSPOT
BSPOTC

B.S.P. inner thread
B.S.P. outer thread
B.S.P. outer thread with cone 60°

Quick Release couplings with swivel connection

Part no. Description D1 D2 |Pressure, Flow | Weight | Length | Width| Lock nut
BSPIT BSPOT| (bar) |(L/min.)] (kg) (mm) | (mm) | included
01332600 |QR Coupling %"BSPIT -female-SW-280B-160L ¥ - 280 160 0.8 76.5 125 -
01332605 |QR Coupling %"BSPIT -male -SW-280B-160L ¥a" Iz 280 160 0.7 78.5 51 [1%"BSPIT
013 32650 |QR Coupling 1”"BSPOT -female-SW-280B-160L - 17 280 160 0.7 76.5 125 -
01332655 |QR Coupling 1”"BSPOT-male -SW-280B-160L - 17 280 160 0.5 79.0 51 -
01332625 |QR Coupling 1”BSPIT -female-SW-250B-190L 17 - 250 190 0.8 82.0 125 -
01332630 |QR Coupling 1”"BSPIT -male -SW-250B-190L 17 Iz 250 190 0.9 83.5 60 (1%"BSPIT

Order possibilities

Kit no. Description Including Option A | Option B | Option C | Option D
coupling | dust cover Y ¥"-90° 1” 17-90°
HB 120 QR Coupling %"BSPIT -female -SW-280B-160L |[013 32 600 | 013 32 615 [NK1212R | NK1212H | NK1216R | NK1216H
HB 100 QR Coupling %"’BSPIT-male -SW-280B-160L |013 32605 | 013 32 610 [NK1212R | NK1212H | NK1216R | NK1216H
HB 220 QR Coupling 1”BSPIT -female -SW-250B-190L |013 32 625 | 013 32 640 [NK1612R | NK1612H | NK1616R | NK1616H
HB 200 QR Coupling 1”BSPIT -male -SW-250B-190L |013 32630 | 013 32 635 [NK1612R | NK1612H | NK1616R | NK1616H
Female Male 1
A
Iy
. TR r
L £
Bl = HYVA = N
= OI g o)
TZZ77/ L/ v
w
Lenght
Y

Lenght

PG-E 00000177 / 11-07-01 / RV AE I'{vm HYDRAU”cs 06-4




Hyva Hoses & Adapters

Q.R. coupling accessories

Quick Release couplings with Push-Pull connection

Part no. Description BSPIT| Pressure | Flow |Length) Width | SW | dust cover

(bar) (L/min.)] (mm) | (mm) | (mm) | not included
147 85 110* | QR Coupling 2’"BSPIT - female - PP-300B-045L | %" 300 45 66 38 27 147 85 334
147 85 115 | QR Coupling 2’"BSPIT- male - PP-300B-045L | %" 300 45 44 27 27 147 85 336
147 85 262* | QR Coupling %’BSPIT - female - PP-250B-175L | %" 250 175 82 48 38 147 85 286
147 85 250* | QR Coupling %’BSPIT- male - PP-250B-175L | 34" 250 175 56 36 36 147 85 274
147 85316 | QR Coupling 1”"BSPIT - female - PP-230B-300L 1” 230 300 98 52 41 147 85 330
147 85 304 | QR Coupling 1”"BSPIT - male - PP-230B-300L 1” 230 300 66 41 41 147 85 328

* Produced according to ISO 7241-A

14785330

14785316
‘III']lllﬁqI'y /

14785262 e [/
- ., , | 14785304

- 14785328

14785110 ‘,:.//,'. i 14785286

- 14785274

14785115

A

Swivel Q.R. coupling mounting parts Push-pull Q.R. coupling mounting parts
Part no. Description Part no. Description

013 32 610 | QR Coupling dust cover %" for 013 32 605 147 85 334 | dust cover for female QR Coupling PP for 147 85 110
013 32 615 | QR Coupling dust cover %" for 013 32 600 147 85 336 | dust cover for male QR Coupling PP for 147 85 115
013 32 500 | QR Coupling mounting plate %" 147 85 286 | dust cover for female QR Coupling PP for 147 85 262
013 32 620 | QR Coupling welding socket %4" 147 85 274 | dust cover for male QR Coupling PP for 147 85 250
147 85 406 | Retainer 1 3/8" BSP 147 85 330 | dust cover for female QR Coupling PP for 147 85 316
013 32 640 | QR Coupling dust cover 1" for 013 32 625 / 650 147 85 328 | dust cover for male QR Coupling PP for 147 85 304
013 32 635 | QR Coupling dust cover 1" for 013 32 630 / 655

013 32 569 | QR Coupling mounting plate 1"

013 32 645 | QR Coupling welding socket 1"

147 85 405 | Retainer 1%" BSP

01332640 ,

01332645
! 4 01332635 '
=

AN 14785406
013326200/ > ~-..01332569

14785405

01332615

PG-E 00000177 / 11-07-01 / RV AE I'fVR HYD RAU”cs 06-5



Hyva Hoses & Adapters

Straight adapters

Hyva Adapters

No hydraulic kit can be installed without the use of adapters to match hydraulic components to each other.
Listed is the main stream of adapters in our range.

Code system adapters

BSPIT = B.S.P. inner thread
Adepter HP - 00 - SW - 14BSPOT - 1BSPIT L T—
q BSPOTF = B.S.P. outer thread flat faced
| §e°°“d connection BSPP = B.S.P. parallel thread
irst connection BSPT = B.S.P. tapered thread
in case of one of the PIPE = connection for pipe
colnnectllons is swivel 00 = straight 45 = 45°
orientation 90 =90° T =T-piece

pressure range HP = High Pressure
E LP = Low Pressure
PN = Pneumatic

Straight adapters BSPOT - BSPOT

part no. description L1 L2 L3 D1 D2 D3 D4 | Sw1
(mm) | (mm) | (mm) | (") (mm) | (mm) (") | (mm)
01317 690 |Adapter HP - 00 - %" BSPOTC - %"BSPOTC 34 1 1 %" 9,5 9,5 %" 22
013 17 805 |Adapter HP - 00 - %” BSPOTC - 4" BSPOTC 39 13 16 3" 8,5 10 Ve 27
01317 700 |Adapter HP - 00 - ¥%” BSPOTC - 3" BSPOTC 42 13 16 " 8,0 16,5 " 32
012 21 838 |Adapter HP - 00 - 2" BSPOTC - 2" BSPOTC 42 16 16 Yo" 11,0 11,0 Yo" 27
013 17 714 | Adapter HP - 00 - 2" BSPOTC - %" BSPOTC 45 16 18 a" 11,0 16,5 " 32
01222661 |Adapter HP - 00 - 34" BSPOTC - %"BSPOTC 47 18 18 %" 16,0 16,0 " 32
147 99 080 |Adapter HP - 00 - %" BSPOTC - 1" BSPOTC 49 18 18 a" 17,0 22,0 1" 41
01317 933 |Adapter HP - 00 - 1" BSPOTC - 1"BSPOTC 49 19 19 1" 22,0 22,0 1" 41
012 22 107 |Adapter HP - 00 - 1" BSPOTC - 1%" BSPOTC 51 19 20 1" 22,0 29,5 1%a" 50
147 99 093 | Adapter HP - 00 - 1%" BSPOTC - 14" BSPOTC 59 20 20 1" 30,0 30,0 1%a" 50

L3

A

L1
2 Sw1
\—

60°

PG-E 00000177 / 11-07-01 / RV AE I'fvm HYD RAU”cs 06-6



Hyva Hoses & Adapters

Straight adapters

Straight adapters BSPOT - BSPIT

part no. description L1 L2 L3 D1 D2 D3 Sw1
(mm) | (mm) | (mm) (") | (mm) (" (mm)
149 58 010 |Adapter HP - 00 - 52" BSPOT - 4" BSPIT 24 14 10 VZ3 12 Va" 27
149 58 000 |Adapter HP - 00 - %" BSPOT - 33" BSPIT 26 15 13 " 15 %" 32
149 58 112 | Adapter HP - 00 - %" BSPOT - %2” BSPIT 26 15 13 Ya" 16 e" 32
149 58 095 |Adapter HP - 00 - 1" BSPOT - %" BSPIT 29 18 13 1" 11,5 i 41
149 58 100 | Adapter HP - 00 - 1" BSPOT - %" BSPIT 29 18 17 1" 19 Va" 41
149 58 102 | Adapter HP - 00 - 1" BSPOT - %" BSPIT 49 19 21 1" 30 Ya" 41
149 58 120 | Adapter HP - 00 - 1%2” BSPOT - 1" BSPIT 52 20 24 1%a" 25 1” 50
L1 L1
SW1 L2 SWi1 L2
6) (S
ot N ™ I RN o~ 1
al 4+ [agra a = E o
* //1 4 A4 y
L3 L3

Straight Swivel adapter BSPIT - BSPOT

part no. description L1 L2 D1 D2 D3 Swi1 Sw2
(mm) | (mm) | () | (mm) | () (mm) | (mm)

01223 650 |Adapter HP - 00 - SW - %" BSPIT - '4" BSPOTC 49 15 8 11 s 27 32

01222909 |Adapter HP - 00 - SW - %" BSPIT - %" BSPOTC 51 17 8 17 8 32 32

01223 677 |Adapter HP - 00 - SW - 1" BSPIT -%”BSPOTC 53 18 17 17 s 41 32

147 99 108 | Adapter HP - 00 - SW - 1" BSPIT - 1" BSPOTC 56 19 17 22 17 41 41

Swi1
a

PG-E 00000177 / 11-07-01 / RV AE

1T YAZ monuies

06-7



Hyva Hoses & Adapters

Straight adapters

Straight Bulkhead adapter BSPOT - BSPOT

part no. description L1 L2 L3 D1 D2 D3 D4 Sw1
(mm) | (mm) | (mm) (") (mm) | (mm) (") (mm)
149 50 180 |Adapter HP - 00 - %" BSPOTC - %" BSPOTC - BH 65 16 38 $Z8 16 16 78 32
149 50 181 |Adapter HP - 00 - 1 BSPOTC - 1" BSPOTC - BH 73 18 43 1" 22 22 1" 41
01317 946 |Adapter HP - 00 - 1” BSPOTC - 1" BSPOTC - BH 85 19 50 1" 22 22 1" 41
149 50 182 |Adapter HP - 00 - 14” BSPOTC- 1" BSPOTC-BH | 74 20 40 7 29 19 7 52

L1

Swi1 -
—
\___/

L2 L3

60°

D1
D2

Threaded bush BSPIT

part no. description L1 D1 D2

(mm) | (mm)| (")
092 23 002 |Adapter HP - 00 - 1" BSPIT - 1" BSPIT - L=70 70 45 17
092 23 003 |Adapter HP - 00 - 1" BSPIT - 1" BSPIT - L=25 25 45 17
092 23 010 |Adapter HP - 00 - %4” BSPIT - %" BSPIT - L=37 37 32 5

ALLUNAARALNAAARALNAANASNALSNA,

L1

PG-E 00000177 / 11-07-01 / RV AE I'fVR HYD RAU”cs 06-8



Hyva Hoses & Adapters

90° Swivel adapter BSPIT - BSPOT

90° adapters

part no. description L1 L2 L3 D1 D2 D3 D4 | Sw1 | Sw2
(mm) | (mm)| (mm)| (*) | (mm) | (mm) | (*) | (mm) | (mm)
013 17 971 |Adapter HP - 90 - SW - %" BSPIT -'." BSPOTC 35 36 16 1z 10 1 iz 27 24
01317 969 |Adapter HP - 90 - SW -%" BSPIT -%" BSPOTC 40 37 17 8 17 17 8 32 27
147 99 054 |Adapter HP -90 - SW -1"BSPIT -3%"BSPOTC 45 40 17 17 22 17 Y 41 835!
01317 982 |Adapter HP -90-SW -1"BSPIT -1"BSPOTC 45 43 18 1” 22 22 1” 41 35
A
a
Y

Elbow Swivel adapter BSPIT - BSPOT

part no. description L1 L2 L3 D1 D2 D3 D4 | Sw1 | Sw2
(mm) | (mm)| (mm)| (*) | (mm) | (mm) | (*) | (mm) |(mm)
01317 962 |Adapter HP - 90 - SW - 3%” BSPIT- %" BSPOTC - EL| 35 58 13 %" %" 22 22
01317 970 |Adapter HP - 90 - SW - %" BSPIT- %" BSPOTC - EL | 52 50 14 123 10 13 12 27 27
01317 973 |Adapter HP - 90 - SW - %" BSPIT- %" BSPOTC - EL | 57 65 18 b 16 16 b 32 32
01317 974 |Adapter HP - 90 - SW - 1" BSPIT - 1" BSPOTC-EL | 73 73 19 1” 21 21 1” 41 41
60°
D4
D3
A
- ]
~ ]
|
Sw2 — .
SWi1 /. -
o
Z !
y =~
3 8 I_ 08 o I v
Y
< L1 >

PG-E 00000177 / 11-07-01 / RV AE

1T YAZ monuies

06-9



Hyva Hoses & Adapters

45° adapters & bushes

45° Swivel adapter BSPIT - BSPOT

part no. description L1 L2 L3 D1 D2 D3 D4 | Sw1 | Sw2
(mm) | (mm)| (mm)| (") | (mm)| (mm) | (°) | (mm) | (mm)
01318410 |Adapter HP - 45-SW -3%" BSPIT -%” BSPOTC 38 28 15 7 15 15 7 32 27
01317 815 | Adapter HP -45-SW -1"BSPIT -1"BSPOTC 44 37 24 1” 22 22 1” 41 35

o
Y

Plug

part no. description L1 L2 L3 D1 | Sw1 | Allen
(mm) | (mm)| (mm)| (") | (mm) | (mm)

147 99 175 | Adapter HP - 00 - %2” BSPOT - plug allen PT-valve 10 10 - VZ - 10

147 99 180 |Adapter HP - 00 - 2" BSPOT - plug allen 18 13 8 vz - 10

017 02 838 | Adapter HP - 00 - 2" BSPOT - plug 27 12 17 2 27 -

017 02 841 | Adapter HP - 00 - %" BSPOT - plug 28 18 15 b8 32 -

017 02 853 | Adapter HP - 00 - 1" BSPOT - plug 30 19 16 17 41

147 99 190 |Adapter HP - 00 - 1" BSPOT - plug allen 21 16 9 17 - 17

017 02 856 | Adapter HP - 00 - 1%4” BSPOT - plug 32 20 17 1% | 20 -

L1
SWi| o |

A
A 4

y
A,

D1

PG-E 00000177 / 11-07-01 / RV AE I'fVR HYDRAU”cs 06-10



Hyva Hoses & Adapters

T-pieces

T-piece BSPOT

part no. description L1 L2 L3 D1 D2 | Sw1
(mm) | (mm)| (mm)| (") | (mm) | (mm)
01318292 |Adapter HP - T - 3%"BSPOTC (3x) 52 26 11 % 8 17
01318295 |Adapter HP - T - 2"BSPOTC (3x) 60 30 16 Yo 12 22
01318 300 |Adapter HP - T - %”"BSPOTC (3x) 80 40 17 % 16 27
01318 310 |Adapter HP - T - 1"BSPOTC (3x) 90 44 22 1 22 36

60°
D1
D2

T-piece Swivel BSPIT

part no. description L1 L2 L3 D1 D2 | sSw1
(mm) | (mm)| (mm)| (") | (mm) | (mm)

013 18240 |Adapter HP - T - SW - 3%4”BSPIT (3x) 80 40 17 %" 16 27

01318 251 |Adapter HP - T - SW - 1”"BSPIT (3x) 90 44 22 1” 22 36

D1
D2

A
A\

SwWi1

NAASAS

Swi1

D1
D2

L2

L1

A
.

PG-E 00000177 / 11-07-01 / RV AE

1T YAZ monuies

06-11



Hyva Hoses & Adapters

T-pieces & hose pillars

T-piece Swivel BSPIT - BSPOT

part no. description L1 L2 D1 D2 D3 Sw1 | Sw2
(mm) | (mm) (") (") (") (mm) | (mm)
01318 303 |Adapter HP - T - SW - %"BSPIT - %."BSPOT (2x) 88 40 |3%’BSPOT | %’BSPIT | %’BSPOT| 27 32
01318 195 |Adapter HP - T - SW - 1”BSPIT - 1"BSPOT (2x) 90 48 1"BSPIT | 1”"BSPOT | 1"BSPOT| 36 41
013 18 253 |Adapter HP - T - SW - 1”"BSPIT - 1"BSPOT (2x) 94 44 1"BSPOT | 1"BSPIT | 1"BSPOT| 36 41
60°
D1

D2
o

Hose pillar 45° BSPIT - BSPOT (Parker range)

part no. description L1 L2 L3 L4 D1 D2 D3
(mm) | (mm) | (mm)| (mm)| (mm) | (mm) | (mm)

145 35 300 |hose pillar LP 28 - 45 - clamps 143 70 43 19.5| 439 | 31 45

145 35 305 |hose pillar LP 32 - 45 - clamps 153 80 37 19.5| 439 | 31 51

L1

D1
D2
z\

L4

PG-E 00000177 / 11-07-01 / RV AE I'fVR HYDRAU”cs 06-12



Hyva Hoses & Adapters

Hose pillars

Hose pillar straight

part no. description L1 L2 L3 L4 D1 D2 D3 D4 | Sw1

(mm) | (mm)| (mm)| (mm)| (") | (mm) | (mm) | (mm) | (mm)
145 00 589 | hose pillar LP 20 - 00 - 1"BSPOT 82 48 17 36 1” 23 26 32 41
147 99 000 | hose pillar LP 28 - 00 - 1" BSPOT 72 40 11 30 1" 23 38 44 50
147 99 005 | hose pillar LP 28 - 00 - 172" BSPOT 72 40 11 30 | 174" | 32 38 44 55
147 99 015 | hose pillar LP 28 - 00 - 1%2" BSPOT 72 40 1 30 | 1%" | 36 38 44 60
145 35328 | hose pillar LP 32 - 00 - 172" BSPOT 79 45 19 27 | 1V | 32 44 51 55
14500492 | hose pillar LP 32 - 00 - 1%%" BSPOT 111 65 21 45 | 1%" | 36 48 51 60

Swi1 < L2
| L3 L4
N_
A L { \
5 8 R IR
Y
A\ 7
O-rings for straight hose pillars O-rings for hose pillars 90°
part no. description part no. part no. description part no.
hose pillar hose pillar
01226 165 |O-ring1"* 3.53 - 50 shore 147 99 000 017 02830 |O-ring1"* 3.53 - 70 shore 147 99 020
01226 185 |O-ring 1%4" * 3.53 - 50 shore 147 99 005 017 02 870 |O-ring 1%4" * 3.53 - 70 shore 147 99 025
01226 195 |O-ring 17" * 3.53 - 50 shore 147 99 015 01225650 |O-ring 172" * 3.53 - 70 shore 147 99 050 &
01225650 |O-ring 172" * 3.53 - 70 shore 147 99 038 147 99 035 &
*) The O- rings are mounted on the hose pillar. References 147 99 036
given for spare part delivery *)  The O- rings are mounted on the hose pillar. References
given for spare part delivery

Hose pillar 90°
part no. description L1 L2 L3 L4 D1 D2 D3 D4 | sSw1

(mm) | (mm)| (mm)| (mm)| (") | (mm) | (mm) | (mm) | (mm)
147 99 020 | hose pillar LP 28 - 90 - 1" BSPOT 77 80 1 30 1" 23 38 44 50
147 99 025 |hose pillar LP 28 - 90 - 1%.” BSPOT 77 77 11 30 | 1%" | 32 38 44 55
147 99 050 |hose pillar LP 28 - 90 - 1%%" BSPOT 77 75 11 30 | 1%" | 38 38 44 60

L1

D1

PG-E 00000177 / 11-07-01 / RV AE I'fvm HYDRAU”cs 06-13



Hyva Hoses & Adapters

Hose pillars

Suction adapter 90° BSPIT - BSPOT

part no. description L1 L2 L3 L4 D1 D2 D3 D4 | Swi
(mm) | (mm)| (mm)| (mm)| (") | (mm) | (mm) | (mm) | (mm)
147 99 035 |adapter LP-90- 174" BSPIT - 15" BSPOT 66 62 1 20 1%" 38 45 1%" 60
L3
| NN
[a]ia)

Suction adapter 90° BSPOT - BSPOT

part no. description L1 L2 D1 D2 | Sw1
(mm)| (mm)| (") | (mm)| (mm)
147 99 036 | adapter LP -90 - 1%" BSPOT - 1%%" BSPOT 70 15 1% 38 60
L1
4I_’2| SWi1
—|N X N
a]a) T T N A
\\ \\
\ \\
\\ ‘|
SW1 ! : o
| ! :
N é
-
| D2
D1

PG-E 00000177 / 11-07-01 / RV AE

1T YAZ monuies

06-14



Hyva Hoses & Adapters

Suction adapters

Suction adapter 0° BSPOT - BSPOT

part no. description L1 L2 D1 D2 | Sw1
(mm) | (mm)| (") | (mm)| (mm)
147 99 038 |adapter LP-00- 1%" BSPOT - 12" BSPOT 66 12 1%" 38 60

L1

L2 Sw1 Sw1 |2

W [

D1
D2
]
D2
D1

Welding adapters

part no. description L1 L2 D1 D2
(mm) | (mm)| (") | (mm)

01222612 |adapter LP - 00 - 174" BSPOT - WELD - L=50 50 22 1%" 36
01222613 |adapter LP - 00 - 174" BSPOT - WELD - L=73 73 26 1%" 42

L1

“““““ '\
- - 8| 5
LLLLL

PG-E 00000177 / 11-07-01 / RV AE I'fVR HYDRAU”cs 06-15



Hyva Hoses & Adapters

Pipe & pipe clamps

Pipe

part no. description press.| type
(bar)

09229 030 |pipe 12x1.5mm - ST37.4 - DIN2445/2 ZP 360 | light

092 29 000 |pipe 15x1.5mm - ST37.4 - DIN2445/2 ZP 280 | light

092 29 018 |pipe 20x2.5mm - ST37.4 - DIN2445/2 BL 360 | strong

092 29 052 |pipe 22x2.0mm - ST37.4 - DIN2445/2 ZP 250 | light

092 29 060 |pipe 25x2.5mm - ST37.4 - DIN2445/2 280 | strong

Pipe only available in a length of 6m.

Hose/pipe clamp single

part no. description L1 L2
(mm) | (mm)

149 59 008 | Clamp hose/pipe single 12mm 42 30

149 59 010 | Clamp hose/pipe single 15mm 48 30

14959 016 | Clamp hose/pipe single 18mm 48 30

149 59 018 | Clamp hose/pipe single 20mm 50 30

149 59 020 | Clamp hose/pipe single 22mm 50 30

149 59 026 | Clamp hose/pipe single 25mm 50 30

Hose/pipe clamp double

part no. description L1 L2 L3 D1
(mm) | (mm) | (mm)| (mm)
14959 110 | Clamp hose/pipe double @12 mm 37 35 41 12
149 59 120 | Clamp hose/pipe double @15 mm 56 & 41 15
149 59 150 | Clamp hose/pipe double @22 mm 70 30 55 22
L2
[T [T
gy T2
[ ' N ;
I I
“ <t
[=]

D | ?

L1

PG-E 00000177 /1

1-07-01/ RV AE

B YA HoRAuLIcs

06-16



Hyva Hoses & Adapters

Pipe couplings

Pipe couplings BSPOTC - conical for hose connection

part no. description L1 L2 D1 D2 D3 | Sw1 | Sw2 | type
(mm) | (mm)| (") | (mm)| (mm)  (mm) | (mm)
149 50 505 |adapter HP - 00 - 3%”"BSPOTC - pipe 12L 42 12 Y% 9 [1215| 22 22 light
149 51 100 |adapter HP - 00 - %2"BSPOTC - pipe 12L 45 14 Y2 9 | 1215| 27 22 light
149 51 150 |adapter HP - 00 - %2"BSPOTC - pipe 15L 48 14 VA 11 | 156.15| 27 27 light
149 50 742 | adapter HP - 00 - %"BSPOTC - pipe 20S 62 16 Ya 16 | 20.15| 32 36 | strong
149 50 752 | adapter HP - 00 - %"BSPOTC - pipe 22L 54 16 Ya 18 | 22.15| 32 36 light
149 50 761 | adapter HP - 00 - 1"BSPOTC - pipe 25S 69 18 1 20 | 25.15| 41 46 |strong

L1

A

L2 swi Sw2

LIV,

>
=
>

60°
D1
D2

|

|

[
D3

L1 = estimated closed length

Pipe couplings BSPOT

part no. description L1 L2 D1 D2 D3 | Sw1 | Sw2 | Type
(mm) | (mm)| (") | (mm)| (mm) | (mm) | (mm)
149 50 530 |adapter HP - 00 - 3%"BSPOT - pipe 12L 42 12 ¥ 9 |[1215] 22 22 light
149 50 540 |adapter HP - 00 - 2’"BSPOT - pipe 12L 45 14 V3 9 |1215| 27 22 light
149 50 610 |adapter HP - 00 - %2"BSPOT -  pipe 15L 48 14 V3 11 | 15.15| 27 27 light
149 50 740 |adapter HP - 00 - %"BSPOT -  pipe 20S 62 16 % 16 |20.15| 32 36 |strong
149 50 750 |adapter HP - 00 - %2’"BSPOT - pipe 22L 54 16 Ya 18 | 22.15| 32 36 light
149 50 756 |adapter HP - 00 - %"BSPOT - pipe 25S 67 16 Ya 16 | 256.15| 41 46 |strong
149 50 760 |adapter HP - 00 - 1"BSPOT -  pipe 25S 69 18 1 20 | 25.15| 41 46 |strong

L1

L2 Sw1

T NN

D1
D2

L1 = estimated closed length

PG-E 00000177 / 11-07-01 / RV AE I'fVR HYDRAU”cs 06-17



Hyva Hoses

& Adapters

Pipe couplings

Pipe couplings pipe - pipe

part no. description L1 D1 D2 | Sw1| Sw2 | Sw3 | type
(mm) | (mm) | (mm)| (mm)| (mm) | (mm)
149 50 050 |adapter HP - 00 - pipe 12L -  pipe 12L 48 | 12.15| 12.15] 19 22 22 light
149 50 300 |adapter HP - 00 - pipe 12L-  pipe 15L 48 | 12.15| 15.15| 24 22 27 light
149 50 060 |adapter HP - 00 - pipe 15L -  pipe 15L 48 | 15.15| 15.15| 24 27 27 light
149 50 075 |adapter HP - 00 - pipe 20S - pipe 20S 66 | 20.15| 20.15| 32 36 36 |strong
149 50 080 |adapter HP - 00 - pipe 22L -  pipe 22L 63 | 22.15| 22.15| 32 36 36 light
149 50 090 |adapter HP - 00 - pipe 25S -  pipe 25S 80 | 25.15| 25.15| 41 46 46 | strong
L1
Sw2 Swi1 Sw3

<m>|

i

L1 = estimated closed length

Loz

Elbow for pipe
part no. description L1 D1 D2 | Sw1| Sw2 | type
(mm) | (mm) | (mm)| (mm)| (mm)

149 54 220 |adapter HP - 90 - pipe 12L - pipe 12L 35] 10 | 12.15] 22 19 | light

149 54 240 |adapter HP - 90 - pipe 15L - pipe 15L 36 1 15.15| 27 19 light

149 54 278 | adapter HP - 90 - pipe 20S - pipe 20S 48 19 | 20.15| 36 27 |strong
149 54 280 |adapter HP - 90 - pipe 22L - pipe 22L 48 19 | 22.15| 36 27 light

149 54 285 |adapter HP - 90 - pipe 258 - pipe 25S 54 20 | 25.15| 36 46 |strong

D2,
1

L1&L2=

estimated closed length

PG-E 00000177 / 11-07-01 / RV AE

1T YAZ monuies

06-18



Hyva Hoses & Adapters

Pipe couplings

T-piece for pipe

part no. description L1 L2 D1 D2 | Sw1 | Sw2 | type
(mm) | (mm) | (mm)| (mm)| (mm)  (mm)

149 57 300 |adapter HP - T - pipe 12L (3x) 70 35 10 | 12.15] 22 19 light

149 57 330 |adapter HP - T - pipe 15L (3x) 72 36 11 | 156.15| 27 19 | light

149 57 335 |adapter HP - T - pipe 20S (3x) 104 52 16 | 20.15| 36 27 |strong

149 57 340 |adapter HP - T - pipe 22L (3x) 96 48 19 | 22.15| 36 27 | light

149 57 344 | adapter HP - T - pipe 25S (3x) 117 60 20 | 25.15| 46 36 |strong

L2

(rrrnn

;l
o

L1 & L2 = estimated closed length

Straight bulkhead adapter for pipe

part no. description L1 D1 D2 | Sw1| Sw2 | Sw3 | type
(mm) | (mm)| (mm) (mm)| (mm) | (mm)

149 50 190 |adapter HP - 00 - pipe 20S - pipe 20S - BH 102 16 | 20.15| 36 41 41 | strong

149 50 200 |adapter HP - 00 - pipe 22L - pipe 22L - BH 94 19 | 22.15| 36 36 41 light

L1

Swi1 Sw3

e

Sw2
|
[

T I L A

L1 = estimated closed length

PG-E 00000177 / 11-07-01 / RV AE I'fVR HYDRAU”cs 06-19



Hyva Hoses & Adapters

Pipe couplings

Pipe couplings 90° Swivel pipe - pipe

part no. description L1 L2 D1 D2 D3 | Sw1 | Sw2 | type
(mm) | (mm)| (") | (M) | (mm) | (mm) | (mm)
149 56 500 |adapter HP - 90 - SW - pipe 12L - pipe 12L 35) 30 8 |18x1.5/ 12.15| 22 19 light
149 56 503 |adapter HP - 90 - SW - pipe 15L - pipe 15L 36 32 10 |22x1.5| 15.15| 27 19 light
149 56 510 |adapter HP - 90 - SW - pipe 20S - pipe 20S 48 42 13 | 30x2 | 20.15| 36 27 | strong
149 56 520 |adapter HP - 90 - SW - pipe 22L - pipe 22L 48 40 17 | 30x2 | 22.15| 36 27 light
< D2 >
D1
Swi1
I >
E I
“\
<
N ) | 5 Sw2 SW1>
- |
. B 7Y
. ||| o
1 = - - O

L1

L1& L2 = estimated closed length

Pipe couplings straight Swivel MIT - pipe

part no. description L1 D1 D2 D3 | Sw1 | Sw2 | Sw3 | type
(mm)| () | (M) | (mm)| (mm) | (mm) | (mm)
14942 010 |adapter HP - 00 - SW - pipe 22L - pipe 15L 52 16 | 30x2| 15.15| 27 27 36 light

SW3 Sw2
i (/\'»6\/\/\/}__
| o)
/ \
A
N —
al QA | -
Y
3 L1

L1 = estimated closed length

PG-E 00000177 / 11-07-01 / RV AE I'fVR HYD RAU”cs 06-20



Hyva Hoses & Adapters

Pipe couplings

Pipe couplings BSPOTC - pipe

part no. description L1 L2 L3 D1 D2 D3 | Sw1 | type
(mm) | (mm)| (mm)| (") | (mm) | (mm) | (mm)
149 50 640 |adapter HP - 00 - %2"BSPOTC - pipe 20S - OP 17 25 Ya 14 20 32 |[strong
149 50 635 |adapter HP - 00 - %"BSPOTC - pipe 25S - OP 62 17 30 % | 165 | 25 32 |strong
gl a

Bonded seals

part no.

description

012 06 801
012 06 813
012 06 825
012 06 837
012 06 849
012 06 850
013 13 848
012 06 874
012 06 898
012 51 685

bonded seal 5"
bonded seal 4"
bonded seal ¥s”
bonded seal %"
bonded seal %"
bonded seal %"
bonded seal 1”
bonded seal 174"
bonded seal 172"
bonded seal 1%4”

PG-E 00000177 / 11-07-01 / RV AE

1T YAZ monuies

06-21



Hyva Hoses & Adapters

Stop cock & Ball valve

Stop cock 1Y.”"BSPIT

part no. description L1 L2 L3 L4 L5 D1 D2 Swi
(mm) | (mm)| (mm)| (mm)| (mm)| () | (mm) | (mm)

147 80 914 | Stop cock LP - 17" BSPIT - 1% BSPIT 51 136 | 108 | 59 12 1 32 49

L3

L2

Swi1 Swi1

Ball valve 1'2” BSPOT - 1'2” BSPIT

part no. description
147 80 981 |Ball valve 12" BSPOT + nut - 172" BSPIT

132 69

40 55 |

14"BSPIT
@37

12"BSPOT

34

PG-E 00000177 / 11-07-01 / RV AE I'fVR HYD RAU”cs 06-22



